
 

 

Answer on Question #54871 – Math – Statistics and Probability 

From the list of 500 names and addresses, 100 names are selected without replacement and 25 wrong 

addresses were found. Identify the population and estimate the total no. of addresses needing correction 

in the list. Also estimate the standard error of the estimate. 

Solution 

The population is the list of 500 names and addresses. 

The total no. of addresses needing correction in the list is 

500
25

100
= 125. 

𝑝 =
25

100
= 0.25. 

The standard error of proportion is 

𝑆𝐸 = √
𝑝(1 − 𝑝)

𝑛
= √

0.25(1 − 0.25)

100
. 

The standard error of the estimate is 

500√
0.25(1 − 0.25)

100
= 21.65. 
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